Math 160 www.timetodare.com

7.3 Solving trigonometric equations

In-class work:
1. Solvein[0,2p): sinx=0.
2. Solvein R: sinx=0.
3. Solvein R: 2sinx- 1=0.

4. Solvein R : sin(2q )=1. Then givedl solutionsin [0,2p) .

5. Solvein [0,2p): cos(2q) = - %

6. Solvein [0,2p): sinx=a, where|a|£1.

7. Solvein R: sinx=0.3.

8. Solvein [0,2p): cost =b, where |b| £1.

9. Solvein[0,2p): tanx=c. Then give al solutionsin R .
10. Solvein [0,2p):2tanx+2=0.

11. Solvein R: 4sint- +/3=2sint .

12. Solvein [0,2p):4sing - 3=0.

13. Solvein [0,2p): cost =- 0.9. Round to two decimal places.

14. Solvein [0,2p): sinzy:%.
15. Solvein [0,2p):2sin® x- sinx- 1=0.
16. Solvein [0,2p): sin2t- cost =0.

17. Solvein [0,2p): cosx- cos2x=0.
18. Solvein [0,2p) :sing +cosq =4/2.

19. Solvein [0,2p) -[3sinx+cosx =+/3.



20. Solvein R:Sinlz- cost =0.

21. Solvein R :Zsin%+\/§:o.

22. Solvein [0,2p) :sin?é\e;%y- %9:1.
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23. Solvein R :2cos3y =1. Then givedl solutionsin [0,2p) .

24. Solvein R :secl :cosl.
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25. Solvein R :csc3x =5sin3x. Then give al solutionsin [0,2p) .
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26. Solvein [0,2p) :sin2xcosx - costsinx:7.
27. Solvein [0,2p) :cos2q - cos’q =0.

28. Solvein [0,2p) :SinX- cosx=%.
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25) o.15+2?pk,o.89+%pk,1.2o+2?pk,1.94+%k or, equivalently, 0.15+%k,0.89+%k;

26) %% £ 27) 0,p ; 28) 1.15, 357.



